soqmental arh
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b} The e o the rh s below the 9GS
d o of the arch i above the spenging
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mﬂhuﬂhlﬂbﬂﬂf
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b Secend order ever
(| Third onder levet
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4. At o may days il jou Suggest O FEMOVE
hutteing work of he R(C sL2b
i b) 10 days
ﬂH‘% d) 17 daps
§ Wha the weihtnograms o el g
of eedinary port and
a5 b} 40
dmw# Fﬂ'ﬂﬂ
. Damg proof course &
Jfondatinied bl el
q pinth e d) el
?.Aﬂnlidliswmmdln:ﬁmm
artifcial illng s aled K.
3) breast bl wall
¢) crss wal ) None of these
lhmﬂwarﬁmrw
on the dge of a timber plece 50 i 1 FRENE
another timbes piece which s aso simiary (L
e Ny
J § e
:.m focmsed at the inter section of two oaf
B Imown -
) valley b) gable
dip  Ordy
0. in concrete results in
Jhooeycombing ) porous yers
() surface scaling ) ol of these
Hh#hhtmmfﬂmh' o Situate
near the boundary b ~** k. . B |
1o peok il ot sy g o
the ‘e .able, mgB:
i speads.
B combineo ting
() continipes footing
%mwﬂhﬁ of a butkding
aea el
i known 18
i) oot area b} phnth area
() tarpet aned ) circulation arta
13, Branch canal takes off from
| thoet
b) marine anal
() peservont
) destribution canal
14, The minimum depth of foundation thould be
zlﬂu bl 100 cm
Wom g1 m
15, The beicks used fo ining of furnaces ane
T
16, Fat e b e bor
1) prepacation of me mortar
! drtempet
n'"..m.-{""' i
17 Wil laying becks in a wal frog o the brick
s be ket
flo At
ﬂhﬂmmﬂaﬁm
Wit 4 u
dm
chiorine
Magresam udphate
19 A stepped pear provide 1 latesal
the wal um e
- b buttress
| ) callt
_‘“fﬂlﬂﬁlﬁmmwh

ﬁmmwaw
e i
25, A dam which resiets the extemal forces by the
yirtue of ts dead weight i known 2
2) earth dam
b gravity dam
o
m
26, mﬁrgnhﬂs are butt against each
other and a cover plate s placed on both sides of
the membes, the joints is known
3) double cover butt joint
b double riveted joint
¢) double cover lap jont
d) Wone of these
17.(ompaction factor testis usedfor-
3) fnding the strerjth of concrele
b) finding water cement r21k0
¢)finding the workabdity of conarete
d) fndingthe strengthof teel
18, A place where walef from turbine i dispased
to natural drain known &
3] canal escape b) tail race
() power house ) water way
29.A line 0n a rainfall map joining places baving
some average anngal rain all called
2 hydrograph b soqonic’s lines
() ishyets ] Mone of these
30, As far as possible plan of the buiking shoukd

b} ciroular
¢ potygonal ) square
11 A curve whise radeus changes radually from
Rt vabue 1o infirite vabue i Gal

a) translation curve b cipr " curve

¢) compound curve u) fimy UV

1 A passagep o Ve nele " oam
neat * up stred e ¢ the & _pection of the
) Tk ;

2) tunn,

b tration

gt

qalery
13, Afour sided fiqure with s posite sides equal
Mlhmqknrmur-qh'rm;hrmn

d) Hone of the abaove
ﬁ.mmﬂrqswmmmmnmlltd
2) sap wood b cambium Layet
¢) medullary rays d) heart wood
35, The sum of qoing in o+ Twice the frse in cum
of a stair s legt &8
3 W) m b) 10 om
()b cm d) 10 em
16, Which of the following one i cakcareous
matertal used in the manufactire of cement
3] silica b) dhay
) oide of ion
17, The size of the letter & described by it
) height b length
() thade d) incination
14, In English bond, the queen doter & put nert o
the quoin header to
3] stengthen bond
b) inerease appearance
() avoid continuous vertical joind
d) None of these
39, The line connectinn a view fo 4 nate i called
) constraction fine hltﬁlﬂm
() margin kne ) leadet bne
40, A camber of 1 in 20 means
) for 4 20 m wide raad, the crown of the road wil
be0Sm
ﬂ?:mmwﬂlmnmﬂmwﬂ
m
Eﬂnmmmmm-ﬂmﬂﬂmﬂﬂ
m
d) None of these
-&:r defect caused by imperfect shason &
) honey o
ﬂnmm 3ﬂm
4, AN chmension ane shown from a comman base
e i called
ﬂﬁm
() anqukar dimensionng
gmm
Lrweed ol in paint b wsed 42
gill! b) thenner
carrr d) piyrent

. The mort powerul exposive wed i Basting

W
ol

e e

45, Which of the following s an example of
silicious rock:
b) marble

3) granite

{] d) None of thesé
46,A systemin which alldimensions are so placed
lhitlhthmadfmmmmlmedqenfmt

d;w slﬂt'rslullid: i

a) unidirectional system

() aligned system drmﬂw

47, Which ivet head is used when the surface of

mﬂate s required o be free from projecting
5

3) cup head b) pan head

d counter sunkhead 4] conical head

48, Heat treatment s given:

2} to soften the metal

b) to save the metal from wear

o to cut miscellaneous metals

) allof these

40, An instrument used 1o remie UnNECESsary

fine without disturbing other lines i known as-

a) duster b) sand bax

() eraset ) erasing shiekd

50, The type of masonry in which the beds, sides

and fage ate finely chisel dressed, arranged in

proper bond and miortar joints does not

mm s called:

a) ashlar fine masonry

b) ashlar rough tooled masonry

¢} ashlar rock masonry

d) ashlar chamfered masonry

51, Conical edge pendil s used for:

3) drawing thin line

b letteting

() drawing thick Ene

d) drawing - “uner. line

521 Laddh, ™ tian;

o e Side sy is plated to the right of the
fro aiew

b) T vignt sde view is placed to the left of the
front view

¢} The right side view is placed to the 1op of the
front view

) The right side view s placed o the bottom of
the front view

53.The bearing capacity of asoil an be increased

]:fmmpanmq-:-ué!

b chemigal treatment

¢) grouting

d) all of these

54 The highest gravity dam located in India i n:
1) Maharashtra b Bihar

) Punjab d) Gujarath

55, The type of joint gentrally wsed in Cast Tron
pipesis:

) flanqed joint

b) depsser couphing joent

¢] socke! jomnl

) all of the above

66 The indlined surface of an abutment which
epcedis the atch bs known &5 .

a) mtrados b shew back

t) exfrados d) haunch

57, The pertentage of Carbon in steel
2)03t004% b)0.1510 1.5%
()3t d% di151015%

58, Separation of water on the fresh conerete 15

talled :
2] bleeding b) perculation
) rendering

i iy
56, The maximum safe bearing Qapacty of hard

ks s

a) 15 tonnes/m’ b 10 tonnes/m’

¢) 300 tomnes/m d) 330 tonnes/m’

60, Concrete having bulk density between 50010
1800 key/m 1 known a5

3] beavy weight conerete

b) fight weight conarete

Q) foncrete

d) condrete

61, Which of the following oné s poores
conducter.

il b} carbon

i d) sibver

61 (hoose the comect formulae for the total
gurface area of 3 cone:

a) wls4) bl mls'+r)
O aRk+xd ) wls41)
mnﬂ provided around the congested area i
) i road b} koop road
() rban road d) bye pass road
6. Find the area of trangular pht of land whote
gudes e 9 m, 12 m & 15 m i hength
a6l b) S’
Qém ) S0’
H.hﬂd ralk of & track aee placed at an inward
gﬂm b Vi 25
1in ¥ d) im0
b6} 676’
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a) 125

) 129

ﬁ;"izlaint and pins is u&;jd.
a) For setting out ang

b) For dveck?ng right angles

¢) To maintain the correct alignment of courses

d) For joining

68. The rate of rise or fall of a road along its
alignment is known as: :

a) gradient b) side sln!:-e

¢) camber d) super elevation
69.When each side of a given square is increased
by 4 cm, the area is increased by 64 cm’. Find the
length of the sides of the oniginal square:

a) 7 am b) 8 am

¢) Sem d) 6 cm

70. A cross staff that used setting out an offset at
an angle 45° is called:

a) metal cross staff

b) open cross staff

¢) french cross staff

d) adjustable cross staff

71.15% of which number is 12:

a) 60 b) 70

¢) €0 d) 75 X
72.What will be the diameter of a wheelif it
travels 440 mm in each revolution:

a) 70 mm b) 140 mm

¢) 210 mm d) 170 mm

73. A spherical ball of lead, has been melted and
made into smaller balls of half the radius of the
original one. How many such balls can be made:

b) 133
d) 258

a) 4 b)8
)12 d) 10
74. Convert 60 Km/hr into my/se¢
a) 16.66 b) 20
) 17.32 d) 6

75.1f 24 persons are required to build a wall in 4
days working 9 hours per day, how many person
can be build the same wall in 8 days working 6
hours per day:

a) 20 b) 18

) 19 d) 21

76.The present age of Father is 4 times of his son.
10 years before, the age of father was 9 times of
his son's age. Find out the present age of son:

a) 20 b) 16

)18 d) 17 :
77.The use of admixture in cement concrete is:

a) To accelerate the rate of setting

b) To harden cement

¢) To make the cement water proof

d) All of the above .

78. If the length of fore sight and back sight are
kept equal:

a) reduce instrumental error

b) increase accuracy

) save ime

d) all of the above

79. The bricks are over burnt with irreqular shape
is called: :

a) first class brick b) second class brick
¢) third class brick d) none of these

80. The process of filling ballast under and around
the sleeper is called: :

a) packing b) boxing

¢) covering d) filling

81. Height of instrument is the :

a) ground level to centre of the telescope

b) ground level to staff reading

¢) reduced level of bench mark

d) reduced level of line of sight :
&2 Which lines are drawn 1o make the section
evident:

a) cutting plane lines b) u-ntrr!inelﬂs
{}daah:j ﬂnes d) hatching lines

3. Sum of the interior angles of a reqular
decagon:

a) 1440 b) 10

¢) 1044 d) 12

84 Which windows provide ventilation to the
inside of the room as the front is blocked by the
verandah:

a) dormer windows

b) gable windows

¢) bay windows

d) derestory windows

ES. A hla‘gl:qm l':l‘." three angles

a) well conditioned triangle

b) best conditioned tria

¢) bad conditioned triang

d) conditioned tangle

86, The gypsum is added to the cement s :
a) to retard the initial setting fire

b) to increase the strength

() to retard the final setting fire

d) nane of these

&7 The representative fraction is 17100 signifies a
scale of :

a) Yan=10decimetre b) 1om =100m

¢} 1 eme= 100 decimetre 1 o= 10 cm

88.A horizontal member of a frame which sub
divides a window opening horizontally is called :
e
st
¢) sash bar
d) mullion
§9. The first staff reading taken after the
instrument set up is called:
a) back sight
b} fore sight
¢} intermediate sight
d) both fore sight and back sight
90.When a cone is cut by plane is indlined to the
axis and cuts all the generators on one side of the
apex, the section is :
a) circle
b) hyperbola
¢) parabola
d) ellipse
91.0ptical square is used for;
a) ranging a line
b) setting out 90°
¢) measuring horizontal angle
d) measuring vertical angle
92.The construction of a temporary structure
required to support an unsafe structure is called:
a) scaffolding
b) under pinning
¢) form work
d) shoring
93.1n 20 metre metric chain; one meter length is
divided into:
a) 20 links
b) 10 links
¢) 200 links
d) 5 links
94, The first dlass brick should not absorb water
more than ... of its own dry weight after 24 hours
immersion in cold water:
a) 10% b} 15%
() 25% d) 20%
95. The fore bearing of line PQ is N 90° CO°E, its
back bearing is
a) 5 90°,00
b) N 90°,00°W
¢) N9O°,00"E
d) $90°,00"E
96. The vertical distance between the wall plate
and top of the ridge is called:
a) pitc
b) headroom
¢) rise
d) span
97. l:IIThusa- vertical distance between any 1wo
conseqcutive contours is called:
a) horizontal equivalent
b) contour interval
¢) vertical equivalent
d) horizontal interval :
43.A Solid has four equal faces,eachan equilateral
triangle known as:
a) Polyhedron
b) Octahedron
C) Tf;iahmli_'r:;l
d) Dodecahedron
9‘}9. The inclined member of stair which Supperts
the ends of steps is known as:
a) handrail
b) waist
¢} sofnt
d) string :
100. The alidade used in plane table surveying
for:
a) sighting, measuring, drawing
b) sighting, scaling, drawing
¢} sighting, levelling, drawing
d) sighting, measuring, scaling

1B 20 3B 4.0 5.A
&€ 7Rl 9. 10.A
e 12C.  13R . J4L 15.0
168 170 1BA 198 20.A
no 2 230 24.A 25.8
BA DE HRT 8K 30.0
A 31C 330 34D 35.C
360 3ITA  38( 39.0 40.A
A 2B 40 M 45 A
60 47 48D 49D S0.A
S1B S52A 53D  SAC 550
568 578 S8A 59D 608
6B 62A 63D GAB 65.A
668 67C 68A 69D 70.C
ne Ak CBEU SRR R
768 77 78D D
nuﬂ %n gi BAD
9.8 l!j g-lzm MD
%l 978 )

i =




	B11
	B12

